CIvL 1101

Topographic Survey - 15t cell

Construction of Contours - top edge

601 %8 86, 656 66 68 ©91
656
1.
y=ax+b
50 ft 1_ 65 6
a = slope = 69T =007
67.6 50t 632 p—intercept = 65.6

66 =0.07x +65.6 x=57'

68=0.07x+65.6 | X = 34.3'|

Assignment 3 - Solution

Topographic Survey - 1st cell

Construction of Contours - left edge

o1 68 66 oo 68 69.1
67.6
1.
y=ax+b
50 ft
69.1-67.6
68 = slope =————-==0.03
a = slope 50
67.6 soft 632 p—intercept = 67.6

68 =0.03x +67.6

Topographic Survey - 151 cell

Construction of Contours - bottom edge

o1 %8 66 656 64 66 67.6
63.2
.
y=ax+b
- 67.6-63.2
68 a = slope = 570 =0.088

676 66 o4 632 p =intercept = 63.2

64 =0.088x +63.2 x=91

66 = 0.088x +63.2

Topographic Survey - 15t cell

Construction of Contours - right edge

601 %8 66 656 64 656
632
—T1.
y=ax+b
50 ft
63 64 65.6-63.2
a = slope = B 0.048

67.6 66 64 632 p—intercept =67.6

50 ft
64 =0.048x +63.2

Topographic Survey - 15t cell
Construction of Contours

69.1 68 66 65.6

50 ft 64
68

676 66 64 632

50 ft

Topographic Survey - 2" cell

Construction of Contours - top edge

65.6 o4 62 619 62 64 65.6
619
.
y=ax+b
50 ft - 1 9
64 a = slope = % -0.074
632 20t 576 p=intercept =61.9

62=0.074x + 619 x=14'

64 =0.074x +61.9 |x:28.4'|
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CIVL 1101 Assignment 3 - Solution 2/2

Topographic Survey - 2M cell Topographic Survey - 2" cell
Construction of Contours - right edge Construction of Contours - bottom edge
656 4 62 ¢19 58 60 619 656 o4 62 619 58 60 62 632
57.6 57.6
1. T
.60 y=ax+b '60 y=ax+b
50 ft 50 ft
64 58 a = slope = % =0.086 64 58 a = slope = % =0.112
63.2 soft 576 p=intercept =57.6 632 62 60 58 576  p_intercept =57.6
58 =0.112x +57.6 —36
58-0086x+57.6 |x-47 “
60 =0.112x +57.6
60 =0.086x +57.6 |X = 27.9'| 62=0.112x+57.6
Topographic Survey - 2 cell Topographic Survey
Construction of Contours Construction of Contours - Two top left cells
656 64 62 619 68 66 64 62
s 60 s 60
50 ft
64 58 o 58
632 62 60 58 576 66 64 62 60 58
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